Cumulative Benchmark Assessment 1
Study Guide
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Directions:@ach problem using a tape diagram. using numbers

and words. You MUST show your work!

1. Ata paradople sat in bleachers m@ophﬁ stood

along the street. How many @eople were in the bleachers than standing
on the street?

2. A pair of hippos weighed §,20L kg together. The female wei hed

ke How much doesthe male weigh
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Directions:hen solve the following problem modeling with a tape
diagram. '

3. A mixture of 2 chemicals measures{.034 pl. It contains some of
Chemical A and755 il of Chemical B. About how much of Chemical A
was in the mixture?
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4. Gavin has(1,094 tov building blocks. Avery has onl building
blocks. How manydnore building blocks does Gavin have?
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Directions: Solve each problem

5. Tom wrote the number 45,378, Bill wrote the number 36,721

How many times greater is the 7 in Bill’s number than the 7 in Tom’s

number? 1O x %/?’ g

Use pictures, numbers, or words to demonstrate your reasoning.
4s,37¢%
36,74
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6. Sarah wrote the number 13,285.

Caryn wrote a five-digit number that has only one 3 in it. The 3 in Caryn’s
aumber is worth 10 times as much as the 3 in Sarah’s number. Write three
different numbers that Caryn could have written.

a). b).

c).

Circle one of the numbers you wrote above. Use pictures, numbers, or
words to show how you know that the 3 in that number is worth ten times as
much as the 3 in Sarah’s number.



Directions: Label the place value chart below. You must include period
names and the place values of each perlod
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Directions: Find th =@; the underlined digit.

9. 703,890 10. 63,540 11, 345,890
700,000 o 5,000

Directions: Write each number usither forms.

12. five hundred eight thousand

S0%, 000 500,000 + §, 000
13, 400,000 -+ 60,000 + 5,000 + 100 65 @
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Directions: Write <, >, or =.
15. 631328 £ 640,009 16. 708,561 > 629,672
17. 56,987 > 56,789 18, 239,097 > 23997
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Directions: Order from greatest to least.

—________'____...-—-—_

19. 20,650; 21,150; 20,890

21150, 20,890, 20, [,50

Directions: Order from ?east to grebat t. (Z) 4 ? a0
20. 41,090; 41,190; 40,009 (D i, O OC?

doooq: g 090, 190
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Directions: 0 the place value of the underlined digit.
1. ofser 935,000

22. @1,267 40, 000
23@@4,792 200, 00O

Directions: Solve the following problems.

24. A toy store is orderifig 3,000 remote control cars. The store can order

the cars in sets of 10. How many sets of 10 does the store need to order?
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25. Tom sol ic oranges during a citrus sale. There
oranges in each box. How many oranges did he sell in all?
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26. A store sold a total of 11’5,00 boxes of buttons last month. If the store
sold 150,000 buttons, how many buttons were in each box?
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Directions:e sum. Show your work!

27. 72,931 estimate QD,ODO 28. 432068 estimate (oOO,UD'O

218,263 +239,576
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Directions: Read each problem and ou must show your work!

31. Hot air halloons are able to fly at very high altitudes. A world record
height 0£64,997 feet ywas set in 1988, In 2005, anew record «f 68.986 feet
was set. How many feet higher was the 2005 record than the 1988 record?
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32. T ere@ot air balloon pilots at a hot air balloon race. There
we ore ground crew members than there were pilots. How many
ground crew members were there?
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Directions: Regroup. Write the missing numbers.

33. Otens 10 ones= i hundred Cf*]OchO 10x] =10 Qo+t /o= /00

34, 60 hundreds = Co thousands LO % 00> b, C0O

35, 2,765= Z thousand, "] hundred, (o tens, 5 ones

2,765 = 271 hundred, (> tens, 5 ones
2,765 =_2 W tens, 5 ones
2,765 = 2,7@5 ones

Directions: Write a comparison sentence.

36. 18=9x2 1§ is 9 timesasanyas Z

37. 8x4=32 s times as many as 9/ 13_32-

Directions: Write an equation.

B.X 7.:~ZI 3%7-; Z!

38. 3 times as many as 7(1s 1.
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39. Eg@tm__gz_g as many as 8. [/O - 5 Vg

Directions:@ rite an equation and solve
40. Last month Kim trame@ many dogs as cats. 1f the total
cats id

number of cats and dogs she trained last month 1§ 28 Jhow ma

Kim tram?_‘ ) %_5 ,




41. Ben ha@nes as many guppies as goldfish Xf he has a(total of 20

fish, how many guppies does he have?
%upp\c-s IS Y Xpru =20
%o\&gs\« @ A

How Mmany GUPPIes Sx5= 15
Directions: Tell whether the exact answer if reasonable FHow do you

know? o
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42. A walking path for horses is 94 feet long. Carlos says that if a horse
walks the length of the path 3 times, it will have walked 500 feet.

Q4 |s bebween G0 OO 1€ the answer was repeonoble Yhe exaet
QO and 100 X3 X 3 oanswer wodd be between 180 and 300-

180 200 Sydhe answer is NOT yeasonable .

43, Mr. Brown sells horse supplies. A pair of riding gloves sells for $16.

He says he will makhe sells 9 pairs.
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$90 and TIg0.
Directions: Multiply using the Area Model.
jo 3o .5 20 . J
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Directions: Solve thé Sroblem. Show your work! " S -
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46. The skating rink rents tes in a month. How many paifs

of skates does the rink rent in@& months?
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